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7 100kN/m%#B25| 100|000 ~ 127 11920 |3mEBZ3Z| — ~ — — — | 100kN/m%ZE#BZB | 1.00 | 1246 ~ 2003| 119.20 |3mZEBZ3 -~ — — —
Zzh st 100127 ~ 905 100.00 | ThUs | 000 ~ 905|240 12.86 Zzh st 100|500 ~ 1246| 100.00| Zhs | 500 ~ 2003| 2.40 12.86
2 100kN/mM%Z#BZ25| 100|000 ~ 135 12054 |3mEBZZ| — ~ — — — | 100kN/mMi%#Z25 | 1.00 | 11.50 ~ 1774 120.54 |3mEEZS -~ — — —
Zzh st 100135 ~ 914 100.00 | =nls | 000 ~ 9141217 11.62 Zzh st 1.00 | 5.00 ~ 1150 100.00 | =N | 5.00 ~ 1774|217 11.62
3 100kN/m%Z#BZ25| 100|000 ~ 100| 11502 |3mEBZE| — ~ — — — | 100kN/m%ZE#BZB | 1.00 | 1095 ~ 1450 115.02 |3mEBZ3 -~ — — —
Zzh st 1.00| 1.00 ~ 878 100.00 | =nst | 000 ~ 878)| 2.06 11.00 Zzh st 1.00 |1 5.00 ~ 1095 100.00 | #ns | 5.00 ~ 1450 | 2.06 11.00
4 100kN/m%i#8%5%| 100|000 ~ 081 11218 |3mZEBZZ| — ~ — — — | 100kN/mi%E#BZ% | 1.00 | 1082 ~ 1349 11218 |3m%EREZD -~ — — —
Zzh st 1.001 081 ~ 860 100.00 | =S5 | 000 ~ 860 2.08 11.11 zhnLst 1.00 | 5.00 ~ 1082 100.00 | #nS | 5.00 ~ 1349 | 2.08 11.11
5 100kN/m%Z#B25| 100|000 ~ 086 11291 |3mEBZZ| — ~ — — — | 100kN/mZE#BZB | 1.00 | 1055 ~ 1316 11291 |3mZEBZ3 -~ — — —
Zzh st 1.00 | 08 ~ 865 100.00 | =S5 | 000 ~ 865)| 215 11.52 zhnLst 1.00 | 5.00 ~ 1055 100.00 | =nS | 5.00 ~ 1316|215 11.52
6 100kN/MZ#B% % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3m%&#EZD -~ — — —
Zzh st 1.00 | 000 ~ 598 74.87 | TnLS | 000 ~ 000|159 8.60 zhnLst 1.00 | 5.00 ~ 7.30 74.87 | ThLUS | 600 ~ 7.530 ) 1.69 8.50
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mMZ#8% % ~ 3mExEZD ~ 100kN/MZ#B % % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh s ~
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh sk ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh sk ~
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/mMZ#8% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/mM%Z#B% % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mMZ#8 % % ~ 3mExEZD ~ 100kN/mMZ#8 % % ~ 3mExEZD ~
Zh st ~ Zhs ~ Zh st ~ Zh s ~
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